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Translation:
Yaakov sought to reveal the end, but the Shechinah left him.
Explanation:
Yaakov sought to reveal the o°»> n>anx to his sons. He realized that in order to
do so they would have to achieve unity both in a spiritual sense — 19ox:1 —and in
a physical sense —1xapn. When the Shechinah left him even after his sons
declared 7R 7119 11 PR vaw, he realized that harmony among the
brothers was missing. He addressed this by blessing each son with an
expression of their unique talents, allowing each to understand their distinct
place in the mosaic of Yxw» 5%2. Yaakov thus taught that true unity is only
possible when we all work towards the same spiritual goal and each person
recognizes their unique contribution towards the attainment of that goal.
Looking in the Pasuk:
Our Musag is coming to explain why Yaakov begins by telling his sons that he
Is going to reveal to them what will become of them in o°»°1 n°ank, and then
does not do so but instead he blesses them. In addition, there a number of
words in 2 7105 which require explanation. First, why does the Pasuk switch
from 100K to 182p7? Second, why does it switch from apy» °12 to H&w>? Third,

why does it say vaw twice? And finally, why does it need to say 02°ax?



NOTES

Rashi’s source is a X3 in (.11) o°105 noon which teaches:
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The x7m3 explains that 2py> wished to reveal to his sons the 'yp. As he continued he lost his wnpi mn. He
was bothered by the loss of the 73°ow and wondered if it was the result of one of his sons not being
worthy. To this his sons said 7nx /77 12°p%X 71 98w vaw, and tell their father 7% 858 7272 PRWw owa so too
to us X .

There are a number of questions which arise from the story told by the xana:

1. Inalmost every instance in which the & nx or w27 inserts a story into the text of the Torah, there
are textual hints that allude to the story. In fact, the purpose of the Chazal is to explain these textual
irregularities by telling us that there is something going on behind the scenes to which the Torah is
hinting. Where is the hint to this discussion that is taking place between 2py> and his sons?

2. The xanxtells us that 2py» feared that the 2°ow had left him due to a fault in his sons. Rashi tells us
that after his sons reassured him that there was no such fault he moved on to something else. What is
not clear is if indeed his sons were telling the truth when they said ynw, why did the 72w leave him?
For example the (:v7x) 727 w7 teaches that prxe also wanted to reveal the yp to wy but was not
allowed to do so due to the fact that 1wy was a ywn. But the Midrash gives us no clue as to why the
sons of Yaakov were denied.

And finally, why did 2p¥* move on by starting to bless his sons? Was this somehow a reaction to what
had happened? Was he planning to bless his sons anyway?

While our Pasuk seems fairly easy to understand, the next Pasuk presents a number of textual
peculiarities, which will become the basis of our Musag. The Pasuk reads:

1072 2NN WRWY 2PY? 2312 WHY 1XPT
The following issues arise:

1. Why did 2py° change from 190x:7 to 8apn?

2. Why does 2py° use the word y»w, which was not said in the previous Pasuk, and why does he
use it twice?

3. Why does the Pasuk switch from apy» 12 to Sxw»?

4. Why does Yaakov add the term 02°2x?

The (3-2:n% nwn9) 727 w1 comments on the above Pesukim in a similar fashion to the X% mentioned
above (see footnote 2). The Midrash is somewhat different than the X3 in that it does not directly
connect 2py> wanting to reveal the yp to the saying of ynw. However, the Midrash does add an
explanation as to why 2py° told his sons yoox:. The Midrash reads:

1 What exactly he wished to reveal to them is unclear. The 721 w2711 brings various possibilities.
Also see Rashi in o no».
2 The Midrash reads
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According to the Midrash 2py° realizes that there is a prerequisite to the revealing of the 73,
namely unity. He therefore calls to his sons and tells them 1oox:3, to gather together as one and this
will allow him to reveal to them o 1 nanX. However, something goes wrong and the nrow leaves
him denying him the required wmpn mA. The Midrash teaches that Yaakov believed this to be a
result of a lack of unity of purpose towards the service of Hashem:
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According to the Midrash the words in the Pasuk in which Yaakov says 02°ax D> 9% wnwn are
thus not to be understood as Yaakov telling his children to listen to him, which would be redundant,
but rather he is telling his children to ‘listen” meaning to understand that 03°ax o ¥»waw 8w 9p, the
G-d of Hxw° who is in the heavens, He is your father. To this Yaakov’s sons answer their father
X and say Pxaw ynw, listen S8 our father, we too know that 7nx /7 1°p9R 7. This exact
declaration, continues the Midrash, is said twice every day by every believing Jew. We say vnw
oxw, focusing our words towards apy° buried in 795317 nayn, and tell him that we still believe 'n
TR 77PN,

With all the above we may now fully understand the intent of Yaakov and answer all the textual
questions asked above:

Yaakov wishes to reveal to his sons o7 n°an but realizes this can materialize only once there is
unity among the brothers. There are two states of unity that must be achieved, a spiritual unity and
a physical unity. The brothers must display a unity of purpose in their belief in Hashem, and a state
of harmony and peace among themselves. This is why the wa7n speaks of Yaakov addressing both
types of possible division: np17nna 5y MR My and 772apn Sy npvnn 00222 v xnw, the first addresses
the harmony among the brothers while the second addresses spiritual unity.

These two states of unity are referred to with the words ox: and x2api. Rov S.R. Hirsch explains
that while the w=w of ».0.x and x.2.p seem to both translate as to gather, they do not share the same
meaning:
1voR:7 and 1xapn have by no means the same meaning. This is evident already from the fact
that nox: can be said even of a single, individual, e.g. (W0:2° 927»2) o> oKX 7v. SO that 1DoK:
demands the spiritual gathering together on the single point, for one singular purpose... y2p,
on the other hand always refers to the external gathering together of people, not uniting in
mind but in space.
We may therefore explain that Yaakov tells his sons that in order to merit the revelation of n»nx
a»° the brothers must both 1oox:7 - achieve spiritual unity, and 1%2p:7 - achieve physical unity.

Pasuk 'x thus begins with Yaakov’s plea for spiritual unity; 10ox:. Pasuk '2 begins with his plea for
physical harmony; 1x2aps. In it he uses his birth name, 2py», which represents his physical state. The
Pasuk continues with the words 03°ax Hxw° %% wnaw, with which, as the xnx and wa above
explained, Yaakov and his sons declare 7rx "7 1°p%% ‘7. Here Yaakov addresses his above plea for
spiritual unity, telling his sons that n>°ax &7 8w 9p. He therefore switches to the name %xw»,
which refers to Yaakov in his spiritual state.
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We are left only to wonder why the 715w does not return. It seems that the spiritual unity, has
indeed been achieved as the brothers have pronounced a y»w that becomes the model for the Jewish
people for all time. What is missing? Yaakov comes to the painful conclusion that this is a result of
a lack of physical harmony among the brothers. He therefore moves on and, in Rashi’s words,
DMK 02727 MR PnNm.

It is interesting to explore why Yaakov did not attempt to address the lack of harmony among his
sons. Also perplexing is why Yaakov should move on to bless his children. Was he planning to
bless them anyway, or was this somehow actually a reaction to the lack of unity? And, if so, why
would he bless them by stating each son’s distinct character? Would it not be better to tell them
how much they are all alike and not how each one is unique?

Perhaps we might explain that indeed Yaakov is addressing the lack of harmony. He does so,
however, in an unexpected fashion. Yaakov notices that on the one hand his sons have achieved a
state of unity regarding their belief in Hashem, and thus are in total agreement as to their mission in
life. However, on the other hand, they remain in a state of n,%rnn. Yaakov wonders why this is so.
Shouldn’t unity of purpose lead to brotherly harmony? Should not a 10ox:7 lead to a 1x2pi?

Yaakov comes to the realization that this is not so. While it is certainly true that if we do not share
the same spiritual goals true unity is impossible, at the same time spiritual unity does not guarantee
physical unity. In fact, we might argue, one may actually hinder the other, as sharing the same exact
goal engenders competition and jealousy. People strive to feel a sense of significance, being the
same as everyone else makes one feel insignificant, and leads to unhealthy competition. When we
all want the same thing we fight over who will get it first or who will do it best. Only when one
feels that he or she is unique and has a distinct contribution to make, can true harmony be achieved.

In short, when we all strive towards the same goal, but are cognizant of the fact that each one has a
unique role to play in achieving that goal, we then, and only then, work together harmoniously as a
team towards the attainment of that goal. Yaakov thus realizes that unity is not achieved though
uniformity but rather though diversity®. He begins addressing this need by blessing each son by
clarifying his unique character, as the (n>) p109 states: anX 772 15725 WK oK. This idea is
expressed in the 7127 w17 which teaches:
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Questions for Further Thought:

a. As religious Jews we are required by the Torah and the Shulchan Aruch to be very uniform
in our observance of Mitzvos. For example, all Mitzvos have a very specific fashion in
which they are to be fulfilled. Do you think the Torah allows for individual expression? If
so, how?

b. Which do you think is more important, spiritual unity or physical unity?

> For this reason the a"937 of the a°vaw in the 7271 were of different colors, as were their stones in
the ywn.
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